TWETIE [T3R) KEHP2EL(F)EKL [107T52R 5237 ]
e e EN e EIEEE T % =
[ 2 z, # gL - = -z |- |=
25 . |E® I~V 16 3 31313 2| 2 |[®=A)
F Rkt
#2 1~V 1212222 2
BEgE BE 11 8 4 | 4 [#% C]
e 2 2 [ A]
. g AT B 2 2 [+ 2 A)
T SAEAEE 1| 2 11 aagibg A]
At 2 2 [Ae#s52C)
poRARE | A5 2 2 [A#i ¥ B]
o A#EAAFTIO| 2 1 | 1 |[A#24+ B]
A FEIL 2 | 1|1
T AT Al 9 11
s & 0
o 4 EAEE 3R R 2 2 (3-8 e A
N 4 |2 ERd 1]1
ey MY I~VI 12 2 2121212 2
RTARR R eER | 9 1|1 g Aoy
5 TAEBPHT 1~1 2 1 1 =) A
g e 72 | 16 | 18|11 (11| 8 | 8
" Ai¢E8IDI 6 3 |3
¥ P -l 6 3|3
. f i+ 3 3
o) i 15 3 |3 3100
A*rTERVY I 6 | 3 |3
} wesavin 6 3|3
1 [erdEyy 3 3
o) 3+ 153 [3]6[3]0]0
LEZRVPREH 30 | 6|6 (126 |00
Mg fp &3t 102 | 22 |24 |23 |17 | 8 | 8




[l

32y [e;::,.,fsl] &gﬁﬂg;ﬁgb(ﬁi)ﬁ:% ()

[10T5&2R 55237 ]

HALAR ]

# P

P
B3

i

& &

o g

-

z

=4

2

z 5

- HE

- flega
HB[3.13%

H Y

3

,J\ 2Ll

0

J

%wl\

[

10 &
s

5. 2%

= 3
R

ﬁ:ﬁg;};@w

0
3
3

NP R

SRS WiER

[N

T

=~

20

(9V]

A

=R = e

10. 41%

o]

7};1.

7f£l

15 DRI

[EETE

il oo/Qe

BHLIZAFRIFS

LARGE ULl 2k 2oy

4 &%y 10

16 §

rEEH I

5

FiEkH IO

o |8.33%

BEFEMAR ] 1T

W gl

E*RFAIDN

B BITI I

(e 2 %
ﬁtk—ﬂ‘#

RiE 3 F A ]3>

FomER - SRR 2TE S

AATFER IO

DN~

DN~

THEen IO

DN SN

RS P

™
}'
3

4
=

26 &

A

L
Sk

13. 54%

= e

e g | 4ot =

RESF S

T % £ B 46 8 4

RRIER Y

FEAFRY

olea Oy

BTy 3
® M R Y

1%
A

5P RER I

™ il

5. T%

BE SRR Rt

BIERAE

BEGF A~ ¥l 3

KEmE B ¥ AP B 1488

¥ 3 F L~ Kk &P

O S

14

3 ¥

CI W

NS N N ~ ~ W%

24

k!

g2 ¥ K

D

b 10 Y \d

192

32

SRS

SRR

32

&&:;mnumwno

184-192 i 3B {4 pr i 8

B g & & k&

0-8

T KR RS ER G

(\,

mis

S i

o 18

3T ¢

J—

—

J—

WAL A EA

Ay
™
IS
ks

12

Do

A
A

WAL A EA

F K

7
N

210

35

35

35

35

35




TWERIE [Fa#)] KEFPEEL(F)EKE [07TE=R »EFF2§* ]
PR AL A Bz—%‘fﬁﬁ;:%‘m augfc # =
v v - gr |- |= - ]1=1-1=
21 e s]é I~VI 16 3133|322 |[w=A)
w2 1~VI 12 2121212 2]2
BEAEE (BETD 8 4| 4 [#% ()
e 2 2 (2 Al
% AL €A (BT 2 2 [+12A])
RN S 2 1|1 SR ik g A]
At 2 2 [A#+ 2 ()
. pIAERE (| AHIVF 2 2 (A4 B)
;3 A#A 11 2 1 | 1 | [#A#24+B]
2 FEI1I 2 1] 1
g [ E45] 11 2 1|1
i3 Fophrd 5 0
4 s PR 2 2 (33 i A
2 ERE! 1 1
EEe BT I~VI 12 2 | 2 2 12| 2| 2
L %ﬂ'ﬂﬁ ey S 2 1|1 N VY
AP &Y I~ 2 1|1 =) Y
2 * T2 1816 (11|11 | 8 | 8
n A*TH 1O 6 3| 3
Pl x RFAIFIN 6 3| 3
*g i BiE 3 3
A 3 15 313613010
A+TERV 1D 6 3| 3
f:! THERV I 6 3|3
’E‘ BER Y 3 3
A 3 15 3,13 |6 ([3[0]0
EEZRVHFR EF 30 6|6 |12/6 |00
WELBFLP £ 102 | 24|22 |23 |17| 8 | 8




TR ¥ [Faf]l kFP£5FF)EEGD (07T 2R FF43¢* ]

, & i 47; ELE. &
B XA R 3L
B AR A7 ] 1 p Y gy pay g ’ .
H g5 z i gr |- |z |-|l=z1-1:=
- BE IV 6 3
Jé;j 65
i 6 |00l 33|0]0
TR 3 3
i M T2 % 3 3
s | ¥ éi T eI 3 3
i ’E 6.7y PR ke RIE 2
5B alivg i 2 2
. T 13 (01212063
Y JE T 5 om—— mE
2 W R Y
¢ 16\§ 5 T ']? 3 3 g
Pl PER TG Y 3 3
B (R P Y 3
A e 16 |0 0|0 367
B ELEET b 1012151612110
et #F 11 4 212
wioh g4 111 2 1]1
FREFEHR 1 1
S G 1 1
WS 4 e 1 - I
_ 4 bxT 10 2
i | 0% grgsg 1o 2 1|1
1; o gqy P17 1T 2 111
EEPFMA L O 2 1|1
E2EFEIN 2 11
iE EYRAIN 2 | !
EF2RIFI I 2 111
g & 2 2
BESE L8l 16 |21 21111 4] 6 |REs-5$PpBR215A5
% bl e 3 3
i3 ® Ebay 3 3
% PR 3 3
7 %% W 2 2
¥ AR 4 2 | 2
b loe g3 E 10 4 ] Z 2
NEIRNEF S X 230 4 2| 2
P8 g s B a1 4 72
2 . T E SRt 9 9
FAZ>EE 2 2
P TELS 2 2
T T B 2 2
1%4.0 2 1)1
BB i3 F A )t 24 F| 8|1 31 5| 6| 4 [ RrEvLEpPpRRITELS
EAFZRY 3 3
e 6 33
N MJ‘“*’ 3 3
Tliog [RroamEsdy 3 3
p| Ao lECESEY Y 3 3
p|7-8% | Bl R Y 4 4
S TSR 4 4
RIER A 2 A
BESF A8 15 31 81 0] 3| 2| 4 |+ EB9y#pRBu288s
PELE T 5a 55 |81 8| 4| 9 12| 14
ﬁ‘fﬁisﬁ‘& 3 90 | 8 10| 9| 15| 24| 24
B Y B & & B ¥ 192828232 32| 32| 82(184-192 - mirpE w6
LK F R K 0-8 TR AR W EEE LAY 2
v 5 & 6 |1 | 1| 11|11 Reprargs
" 18
? wob o e | 12 |22 |22 2| 2 |enprares
EOE "S- S N T 210 |35 |35|35|35|35]|35




TWATIH [TBH)] KEPP2EL(F)KL (1078 &R ~FF23§*]
oA R p§—§&P§:§& :ﬁggf % =
- v H Fr - l=1-]1=1-1=
2% N Ll | 16 | 3|3 |3 |3]2]|2|[mA]
#F2 [~V 12 (22 2]2]2]2
BEER (BE I 8 4 | 4 [#% C]
Uigd 2 2 (e A)
% ALE AR BT 2 2 [+ 52 A]
cRgibg 1| 2 1|1 [==27i g A]
Aetgem 2 2 [A#+2C]
. pRAEE | RAIF 2 2 (A# 4 B]
i A#HA T I 2 1| 1 |[A#2+B]
’% &I 2 1] 1
gl (E45T 10 2 1|1
7 Fopprd E 0
3 g S 2 2 s A
4B 1|1
Ry BT 1~VI 12 (2|2 |2]2]2]2
# WIS (pegnr-] 2 7 LA R Y
PARAP KT -1 2 1|1 e L
gk 3+ T2 18|16 (11 |11 | 8 | 8
" Ai2THII 6 3| 3
Pl ¥ [R3F1D 6 3|3
ﬁ‘ Tl IO 6 3 |3
o) 3+ 18 336 6|00
2 ArTERV I 6 3|3
B Y IR3IERY IO 6 3|3
# P 12 |33 [3[3|0]0
EEZFVHP 3 30 66 919070
RE P £ 102 [ 24|22 {20 (20| 8 | 8




,ﬁ ,ﬁ—! .
TWETIHE

TBf] KEHP 2L (EF)EE D)

UESIRE LS LD

oo e ) o £ % & K
AR 1 ! S-Ha|ly-BE| $-8s ;g .
;ﬁ; g5 z, ﬁ; B - = - = - =
- HEMIV 6 3|3
J!,i 65~
L B N 6 10|03 3|00
g A A 3 3 3
¥ (785 R KPR IE 2 2
Y ﬁ 3.64% | 5 HRLEIE WiT I 2 2
) ¥+ 7 g1 2| 2|0 8| 0
4 BT = 3 3
)y ERERFVID | 8 [4]4
AN 1¥RTRY 3 3
ol P, ?ii;‘i;:ﬂ? 3 3
BB - I ﬁl%fﬁ‘?” 4 1
/] 3t 21 | 44| 3| 3| 4| 3
P E LS T xa 34 141618161 7] 3
R =N 4 2 2
wrobfd 110 2 111
¥ EAEE PN 1 1
e LI L 1 1
T e 1 - 1
_ 4 exy 11 2
| 10F Lo 2 1|1
Py gy FFE IR LT 2 1)1
S dEnsrrees 2 11
E2gFEI N 2 1]1
- EXRHIN 2 1] 1
=2 ErBiE] I p) 1 |1
iz # 2 2
AESE A g 16 121211111 4] 6 |[#su-uspprpx2iss
?LL ml,f*ﬁ,IH 4 2 2
" EETEY 3T 4 2 | 2
” Km*_%ﬁl[[ 4 212
AATHER 4 21 2
i +§1]1 4 2 | 2
g ) S 2 2
3 | 2 TESF IO 4 2 | 2
Pl #F [Raprenin 4 22
F* 5. o EAILES 3 3
e P 9 2
BRE 2 3
p $afe T 2 2
RS 2 2
B E3rd 2 2
1%£4.0 2 111
)&g@&/}m-? 29 |21 2|35 8] 9 [wisvisprpushHss
? @ﬁg‘lﬁ ¥ 3 3
3 4%)?@”%5#*'# 2y 11 6 3] 3
# 11\? TFREEY 3 3
P Ay 3 3
gz 2 2
BiE S E A 11 [ olololo] 5] 6 |[rEuvprrxliss
sss@?/-‘#tb‘* 56 4 | 4 41 6 | 17| 21
R #£ P § & & & 90 8 |10(12| 12| 24| 24
¥ B3 ¥ g £ K& 3,2, | 192 |82 32| 32| 32| 32| 32 184-192 B pr i 6
B % 5 & & 0-8 FOELATRKE S WEE  EABA P Y 2
& i sp | 13 5z ¢ 6 11111 1 1 [egfprz-gs
po |0 Fo& % | 12 |2 |22 |2 ]2 |2 |[“BFRIEA
@ % 8 B & Kk 210 |35 (35(385|35| 35 | 35




BREE [(BRHRPE] KE£P 255 (F)KL [0TSR 52 3*]

ESE a1 = ES & #

") e IEE TR T % =2
AR z, - gL |- |z - = - =
2n I B2 1-~VI 16 | 3|33 |3]2]|2/|[RMA]
#2 [~VI 12 |22 2]2]2]|2
BT (BE T 8 | 4] 4 [#% (]
iRl 2 2 (5 Al
% AL g AT (B 2 |2 [+12A]
SRgAE T | 2 1 2Rk g A]
A 9 9 (A4 C]
pIAESE (| AHIVF 2 2 (A4 B)
| g FCER B 2 1| 1 |[##2%B)]
1 B R 2 |11
ty T | 2 1|1
Fjd & 0
2 . N 2 2 (-5 s A
T |2 ERE 1|1
EEE (BT I~V 12 |22 ]2]|2/]2]|2
%ﬁ?éﬁz‘ EREyERE I~ 2 1 LA Epgy
# &Y -1 2 1|1 g LAy
b3t 72 [16| 18|11 |11 | 8 | 8
WEHE 1L 4 2 | 2
L BEHg I 4 2 | 2
Pk egm D 4 2 | 2
I“ W4 FE I 4 2 | 2
/) 3+ 16 2121|6600
H1me ¥ 10 6 3| 3
P praany 3 |3
(LIIES T, 3 3
-] #* 12 6600|010
LEZRV$P EF 28 8 8|6 6010
WELBHFP 3 100 | 24|26 |17 17| 8 | 8




BEFE [(##$] kFPprafrE)K: (P UEEI XL ES ED

. . . £ % B ¥k ¥ ¥k
AR 1 ’ S-gElv-sE|v-gz % o
bH | #A L gAl-|=|-|=1-1=
- #E IV 6 313
a8
)y 808 b 3 6lololsls|olo
. BEpiSH IO 4 212
TN 2 12
ﬁ 4.16% | 5 a0gs3 Bl1e R 2 2
5 ‘| 3t 812|042 01| 0
2 YT 4 4
MRSy S PRl 8 [ 414
o |3 10‘“40/ 2RV IN 8 414
9 ’ o 3+ 2004|444 0| 4
7 @%A‘Etb‘l 34| 6| 41119 0] 4
ErEF 11 4 2 | 2
wioh g4 111 2 111
I 1 1
¥ B ReF RIS 1 1
WL 2 f ik 1 1
_ 2 F:?Is [ 2 1 1
g |10% rm«;gm 2 11
# 5 gqy P EH 1T 2 1)1
Iﬁﬁiﬁ%#ﬁ%lﬂ 2 1 [ 1
3T B g1 2 [ 111
FXREFID 2 1]1
i EF2iEl I 2 I [1
B # 2 2
RESELA P 16 | 2| 2| 1| 1] 6| 4 |[¥37E8-SfPBR2TEAL
[ EREBb 4 2 | 2
# T e 2 2
i3 ki I 4 2 | 2
41D 4 2 | 2
Fkge 3 ; 3
2| ¥ fgpa 11 4 2 [ 2
Bt 4 7/;310/ Hoas R 2 111 4 2 | 2
LR e Em 3 3
Tl e dlid 11 4 2 |2
R E R 2 2
f B ik 3 3
# 14,0 2 1|1
BB 58 A ] 15101011 ]11] 5| 8 |FEBLdpapudssr
MR Y 110 6 2122
ﬁ‘&#‘-h 1B R Y 5 o
TN MR L] 4 2 |2
HEL FELIT] 2 2
gl o# L HPET ¥ T 6 3 | 3
B 14.1% | R i et W Y T 6 3 3
THEFYIN 6 3 [ 3
LIE R Ir 2 2
T LSS S e 27 | 0| 01 2| 4] 13| 8 |[#%Eufy#PRRINEL
L T2 581212141624 20
Ry #9084 & &3 92| 8| 6 |15\15| 24| 24
v o3 ¥ F & #k B 31921323232\ 32| 32| 32 184-192 it pE g6
BB K £ & K 0-8 T TR RE R EA A Y
i Exd ¢ 6 | 1|11 ]1]1 1 e fprzrgr
#p e & E P 12 222 |2] 2 2 (B ftp AEL
5 % x ¥ % & # 21035353353 |35




BREE [(KE#] KE£P 255 (F)KL [107T&=ZR 524" ]

B x & K

o AL A " 5-gz|3-8%|5-8% % =
- v # Fr - =] 1=1-1=
2% N Ll | 6 | 3|3 3|3 |2]2]|[R=14]
#2 [~VI 12 |22 (2]2|2]:2
BEER (BE I 8 4 | 4 [#% C]
Uigd 2 2 (5 Al
% A g AT B 2 |2 [+ 52 A]
2REAE T 2 1 2Rk A]
A 9 2 (A4 C]
pIAER | AHIF 2 2 (A4 B)
|y ARALFIN | 2 1| 1 |[##2%B)]
1 BT 2 | 1]1
g (E451 10 2 1|1
e 0
i e 38 Bk 2 2 (-3 544 A]
T |AERE 1|1
Ry T 1AV 12 |22 (2]|2|2]:2
R4S |gegm -1 2 7~ LAY
(in 2ARP KT 111 2 1|1 7 LApny
S 72 (16|18 |11 |11 ] 8 | 8
BEHRE I 4 2 | 2
L (#pEfe Il 4 | 2| 2
Pk [sememId 4 2 | 2
11 B4 F I 4 2 | 2
B 3 16 |22 (66|00
WWE Y IO 6 3| 3
P praany 3 |3
(LA ERE 3 3
b 12 |66 [0[0]0]0
LEZRVP EF 28 [ 88|66 |0]0
MGG £3 100 |24 |26 |17 17| 8 | 8




BEE [(KE1f] kP afr@K: (P

UESIRE LS LD

P : SR I N
AR t ’ S-BE|y-#E| v-ga 8
L g5 z, ;f]é; Bo| - = - = - =
_ FHE IV 6 313
i |6 &4
sl 0
o BB 3 6lololalalo]o
B BB s [-10 6 2121 2
5| % “f BRI 2 |2
TR | s | B iR 2 2
-] 3+ 1002|1042 2| 0
,PL ﬁgﬂlf S 4 4
2] S
2 | os ﬁ: %@ [ Z : 44
g F‘?if £ 4
EI E[ 125/0 *igy ?3‘3 4 4
J 3+ 241 41 4141 4| 4| 4
BB LS KE 401 6|1 4111 9] 6 | 4
YR =R 4 2 2
¥ e gd 10 2 111
§REE PR 1 1
BibigeFr BTy 1 1
%afg;‘éﬁ&mfé{‘? 1 1
; 4 F:?Is 1 2 1 1
o | 0F BRI 2 11
s || R 2 T [1
' “iﬁfﬁiﬁ#ﬁmu 2 1 [ 1
Er g1 0 2 [1]1
i ERHBIN 2 11
EFrRIELI 2 1 1
i3 & 2 2
# BEBSEL & 1612121 1] 6| 4 |#E8-44pBx21584
BrAE 10 4 2 | 2
> # i RS 2 21 2
4 210 4 2 | 2
BEY 2 2
2 i E 2 2
p |0 [BERe I 4 2 | 2
P Ly, e 2 2
A REY T 2 2
g 2 2
P 2 2
1%4.0 2 11
p REsE %l |14 0|10 1] 3] 4| 6 foEntipfpRRdgs
ﬁ&wm 2y 10 4 212
Trel e WEWE Y 1] 4 2 2
Gy 4 4
B lo2w [BEndipER v L0 6 3 |3
po| 4 [pEEEredmRy o | 4 2 | 2
poo|11.46%| % Fedf e lRIE ¥ 1 6 3 | 3
WREEFY 10 6 3 1 3
AIE R T3 2 2
REGEAHLy [ 22|00 2]2] 8| 10 |[#Eu3 v mudss
ERFLELT 5212121416118 20
Ky #£ 0 8 & & & 92\ 8| 6|15|15| 24 | 24
v OB Y OB A& B (1920832328232 32| 32 [184-192 it pER b
AN B S 0-8 TOIELA KRS WA IR Y2
&y | s 8 FL & 6 111 ]1 1 1 [wigfprzrghe
o[ A0 ok E w12 |22 2|2 2 2 | APEL
s @ % % i % 4 [210[35]3535[35] 35| 35




BEE [AWF] KE£P9 255 (F)K [0TSR 52 3*]

B x & K

oA R " 5-gz|3-8%|5-8% % =
- # v # Fr - l=1-]1=1-1=
2 e A B 1~V 6 | 3(3[3[3|2]|2|[AA)
#2 [~VI 12 |22 2]2]2]|2
B (BET D 8 4| 4 [#&5 (]
g 2 2 (< A)

% ALEARR (B 2 2 [332A)
AREAE T 2 1)1 2Rk A]
pEe 2 2 CEIE®

piRARE | A#HIE 2 2 (&5 B]

S A#AF T 2 1| 1 | [##2 +B]

1 BT 2 | 1]1
PR [T T 2 1|1
s 5 0
f e [P PR 2 |2 38 g A
EREEE N .
4 ER) 1|1
EE BT IV 12 |22 ]2]2]2]|2
WTARE |BREER I 2 1 9 LAmEgy
# PAMP KT I-1 2 1|1 7 A AFRY
)3 72 [ 18|16 |11 |11 | 8 | 8
BEER I 4 2 | 2
L BEEg Il 4 | 2] 2
Pk [sememId 4 2 | 2
11 B4 F I 4 2 | 2
g 3 16 |22 (6 |6[0(0
HAme ¥ 10 6 3|3
P praany 3 |3
’[j‘ BRLERY 3 3
I 12 |66 [0[0]0]0
LEZRYVHPEH 28 |8 (8 (66|00
WIRBFD &3 100 [ 26|24 |17 |17| 8 | 8




BEE [WAWf)] kP afrE)K: (O

CUESIRELFS LD

AAZAT ]

# g

P
o

i

=

ﬁﬁ( 5" E:

o g

o BE

S BE

B

g~

A

65~
3. 13%

FEM

6

3

3

T

J

3

e

10 5
A

5. 2%

BRI R

DN

Tl e g 110

N

AR R H A

PR S TR A

J 21

Ny DO

m—"\*«: =l

25 %
A
13%

%{Eﬁll?lﬂ

| Do

~

~

.Jﬁgﬁba

Q&:mmgwwgmq

LN

SNILN

| W |

O NN (>

sy

16 &

A

8. 33%

Rt #F 10

S BT NN

DO Wy G

Tebgd 10

[E—y

ErE

| p—t.

Bl L BB F BT

Y re,

E o !

t“glivg [

%?fﬁlﬂ

B F PR

f*ﬁ%ln

ERHID

ﬁvﬁmlﬂ

ﬁ;:,e»__ %

BESE ]

D

SIS

T - L Bk 2T E A

?ﬂ.

#

= e e

23 %
A

12.5%

1 ERHA

F PR

CO|DND |~y

1RREI N

WEAFI I

F b R

1R PR

% TR

Wig4e1 2 T 1T

iR 111

D[ DO Qoo DD

Fad2 1 1T

po i g

IR

1¥4.0

XTI 2

N

ol

S I [ 1] I NG [N

GrERREPIPRA6F L

r:né‘g = mf

135
Aw\
6. 7%

T et WY R YT

TR AARFY I T

ool ol e[

*}4 /é’@:ﬁ%

DO DN

ﬂwf"# oo '

mﬁ?"g" ggl-ﬁ 33

Bl

EIE R 3%

NCADODODNU'IODN[\'JNw»hrhrhwwwnhph.hwwl\wwwN[\'Jl\')[\')[\')'—"—"—‘mnh

BESE L~ &3

T LA ED

EFL &L

olg

SN

13

Liad

2.
3T

L PR ALK

92

15

15

24

g

i3

3
¥

32

32

32

184-1902 i SB42 o Y 52 85

8

B

g ¥
¥

S
g w

R AR RS

[k

&

bo

(\,

mis

3 e
s

o

BAP R A

18

-
A
VA

S p A EE L

iF

35

35

35




¥ [zrE2FRP£] £KE#r 250 (F)KL [0TSR 52 3*]
o A A Ei %ﬂi":%& %ﬁgﬁf % i
v v - Frl- == 1=1-1=
S @é I~VI 16 3 1313|322 |[&=A)
#=2 [~V 12 | 222|222
BEAER (BE T O 8 4 | 4 [#% B]
i 2 2 (< Al
21 ALE AR B 2 2 [+ 72A])
SAgAg I 2 1|1 [ g A)
At 2 2 (A 2C]
fasaEs (o8 2 2 [k i % B)
c | & RALF I | 2 1| 1 |[##2#B]
a;i I 2 1 |1
gl (E45T 10 2 1|1
s 5 0
“ N 2 2 P8 e A)
T |2 ERd) 1|1
g BT 1~V 12 | 222|222
WA |pegm -] 2 1 |1 LN R
0 AR KT I~ 2 1 1 A= A
) S 72 | 16| 18|11 | 11| 8] 8
¢ R 2 2
Bl e 2 2
;j B A A 2 2
[ = LA 2 2
£ R Hei B 2 2
B Ap 3t 12 0 0 | 66 010
y BEAAIT 6 3 | 3
5o |A AR 6 |33
ﬁ AHRE I 6 | 3| 3
2 3 18 9 190000
EEZFYHP L 30 9 | 9 (6 6|00
ML Fp &3 102 | 25 | 27 [ 17 | 17| 8 | 8




Eir# [2pzfR ) kE#pEFL(FEE: (D) [07T5=2R FF3§*]
2

e : % O k&
s * ’ AR TIEET 8
i g~ - gr |-l == 1=1=-13=
- BEMIV 6 3 13 s B
Ja,:, 5%;4;\
@ | 1] 3 T 6 03130 0
FrEFER LI 6 3 | &
s | % NEEET 8 i]4
TR R 2 |2
Bl S Wi i 2 1|1
ke| 9 = 18 5181 5| 5|01 0
R TR 6 3] 3
poh|14%A ERRFFAIN 8 1| 4
2 # 7. 3%
| 3 14 01 0| 41 4] 3] 3
UL L. S 38 | 5| 3|12]12] 3] 3
BrES 11 4 2 | 2 less
REER 2 I[1
P REIREH 1 1
ERaixer Rivs 1 1
_ E . 2 1 1
g |1ess |[CFERID 2 1 |1
| 833 FEFH IO 2 1|1
g | " BB AE P 11 2 [
22 gl 2 1 1
EREx Bl 2 1 1
w2 BIF] I 2 1 1
Wit ® 2 2
s RE A E 16 |2 2116 4
4 R4zt 2 2
e 2 2
RS 2 2
ERdarehl I 4 2 2
o N B KR
p T ERMARI 4 2| 2
R ZART T 4 2 2
P 7 Motg BTV 6 3| 3
P P ARAE I 6 3 3
1%4.0 2 2
BiE 3 F & ) 3t 26 0| 0| 2| 2 11| 1] [grEstsppmudss
R B S A 8 414
pon(108s [EREFH BV 8 4 | 4
il 5.2% ERES 2 2
ST LR Jike 10 01 01 0] 0| 4] 6 |xEu3y$rmxisss
Y PF TR 52 212|338 |2 21
PR B 90 5| 5| 15| 15| 24| 2
¥ o3 ¥ B & & B P 192 | 32|82 32| 32| 32| 32 [184-192 e Bispr ¥ % 6
e TR ARCRE W RER - F
CEENE N A 0-8 IS W
i | e 8 5L ¢ 6 HERE I EEEL
A FOE E # 12 2 |2 |2 | 2|2 A Y I
0% % 8 B & & 210 |35 |35 |35 |3 [35]| 35




gE [SemeEs] KEFP REA ()KL (107528 55547 ]

] R & K
oA R SEEET t":é& Y- gz % s
5 ¢ i Fr - =] 1=1-1=
o [aajé I~VI 16 3131332 2 |[&=A)
#Fe 1~V 12 (2022|222
BEER 8BS I 8 4| 4 [#% B]
o Y 'E (g A)
g A (M 2 2 [+124)
SR e T 2 1 |1 SRk g A]
e 2 2 (a7 C]
" BT B 2 2 (4 % B)
i A#HAF I | 2 1| 1 | [##2 +B]
1 BT 2 | 1]1
FAAEE (2491 10 2 1] 1
A s & 0
4 e B e 2 2 GRS ST
NS ¥ Y| 1|1
EEE WY -V 12 (222|222
i3 WYARE |pgpwgm -] 2 § L AmEgy
AR KT -0 2 1|1 LAy
] = 72 | 18| 16|11 |11 | 8 | 8
SA
/ ot =k 0 0 0] 0] 0|00
LR fgman I 4 2 | 2
Vg [EEEpRI 4 2 | 2
Lo [EFGFID 4 2 | 2
poBRERIrI~VI 18 313 (3 (3|33
A 3 30 313 |5 (5|77
EEX2FYHP L& 30 313 |5 |5 | T|T7T
WL fLp &3t 102 |21 | 19 |16 |16 | 13 | 13




e SHMeEP KPP aFL()KE (D

UESIRE LSS LD

2y te gE : CE A - A S
F%ﬁf_‘xﬁ I 7TJ' 12 q' %-& éﬁ__ g_& %*%_& i oy
b | #A L # gal-|=]-1=1-1=
- HE IV 6 313 55 B
ALY 2
I sl 0
oo L ST R AN AR AN
BEIAFHIN 6 [ 3] 3
e i 138 |# 5 PEh 3 3
2 ,fi A %E:\)“;L? i* 2 2
Bo|6.7T% | F 4EREEI S Gl (T 7% 92 9
J 3 131 31810121010
iﬂ = %‘iﬁﬁ? w10 6 3 3
plur DR eFFF Y I 8 4114
3 2
o || SO “Hlolo|olo|7|7
AR S8 'S 3138|835 7|7
IR =20 4 2 | 2 e
ek g4 [ 2 1|1
i B EE R 1 1
Y L 1 1
WS A e 1 1
- 4 %y 10 2 111
il OF g 1 9 T[1
1 [0 [FEEEIE LT 2 1]1
3T Iﬁfﬁﬁﬂ%ﬂﬁm il 2 111
E2 eI 2 [ 111
& EXRBFID 2 1|1
ERE- Ll 2 1|1
Heir 3 & 2 2
RESEAK]} 1612123114 4
7T;L E 3
2 B 3 3
7 TG %2t 0 6 313
EED T 2 2
EE e 2 2
B RE 2 2
‘ i 25 % [ B % 2 2
BIAIA] » [t 2 2
bl 1w epgse o 1 2] 2
2311 4 212
3311 4 2 1 2
SR I I 4 2 1 2
A 5 e 2 2
1340 2 1 |1
BEBEA ] 20 | 31 0] 6] 6] 6] 4 x5t ippBxdss
REEAFEV I 6 3|3
:ﬁiﬁa{%%? g 3 .
Y mvk)_l_zs‘y 33
3 6% G amay i I
fi 8. 3% a.\'m?' %ﬁﬁ’” 4 4
B o o gl I 8 41 4
éﬂ%%ﬁ 2 2
BEBE A% 16 | 3|1 31 41 4| 0] 2 [%Es3y#rBx3054
ELEF Thw 57 181 5113 11]10] 10
AL N S 90 | 11| 13\16| 16| 17| 17
F OB ¥ B L Bk B 1921323232 32| 32| 32|184-192 e pER g
® OB K 5 & Ik 0-8 TEAAKKE AR YA Y2
wu |5 AN I R S U O R S O AR B S B 3 S Rk
poo w8 Lippina e
b ¥ & E B 12 |22 |2 ]2|2]|2|[efnriss
0% K O8 »n & 210 [ 35|35|35 |35 |35 35




IABZRE 1P KEFP 2ELH(FKE (07T 5337 ]
P Y # B & e
oA " 5-gz|3-8%|5-8% i a
- f v i Fr - =] 1=1-1=
o @v I~VI 16 3131332 2 |[&=A)
#2 [~V 12 (2022|222
BEER 8BS I 8 4| 4 [#&5 (]
g 2 2 (< A)
i AL AT (HTL 2 |2 CETV
SR e T 2 1 |1 SRk g A]
A 9 9 (et C]
. BT | AA g 2 2 [ 4 B)
Sk AAAp I | 2 1| 1 | [Aa2 48]
1 BT 2 | 1]1
g (E451 10 2 1|1
u Fopird E 0
PR ik i 2 z [+ thitiss A)
ER-Z 1Y 1|1
RS [T I~V 12 (2122|222
4 %%'T’?Ez' EREeEE 2 1|1 § R4
. AR ET 1-1 2 1|1 7 RAEFRY
2 72 | 16| 18 |11 |11 | 8 | 8
n AR T IO 2 1|1
A ETIERD 6 3|3
; 1R 1 4 2 | 2
] \%L 12 11 (3|3 2] 2
- ARF Y IO 6 3|3
o | % MERVIO 6 3|3
f TRRERFY IO 6 3| 3
g 3 18 {33 (6|6 |00
LEEZFYHP L 30 4 |1 419922
HEACN Y S 102 [ 2022 (2020|1010




1282 R¥E [Jpaiif] REPPEEFL()ELGD) [107T5&R 55457 ]
= et o & i¥ #® B i ¥
A 4 ) 1 P G E: |5 %:] 5.9 . "
- g5 z i L9 - [ I - =
- HBH IV 6 313
i |6 8 &
#(3.13%
w L2 2 3 6 0 |01 3]3] 0 0
+£5 110 4 2 | 2
/ﬂ Pﬁ&lﬂkpm 2 2
2 i ue [ LTE 2 2
e /ﬂ Pﬁﬁ#ﬂ: 2 2
po|7.29% |2 RER A 2 2
% SR ﬂﬁlffﬁ' 2 2
# " ‘@1 14 6 12121 4] 0 0
A8 IFIH 4 2 2
IS AR OE S i [ 4
p %IMI:@*:@?«%‘ n%?‘ 4 4
B % FpPaAfgY IO 8 4 | 4
2 ? 20 4 14141 4] 2 2
M EES s 38 | 1016|9111 2| 2
[ =20 4 2 2
Fiek el 11 1 1
AR 1 1
EHizBFRIF: 1 1
_ W s 2 s i e 1 1
7 _ 4 by I 2 1 1
i [10F [exa 0 2 11
Py g EAT I 2 1 1
P e pspme L 2 1 | 1
w2 TN 2 1 1
& EXRFID 2 1 |1
EXRIEID 2 1 1
B & 2 2
BESELH] 16 2 12|11 4 6 |rEn-pp BRI 8L
" AR R T T 4 2 2
2 TAERE 1T 4 2 | 2
Bt 48 2 2
55 R PEh 3 3
ey (Mt s 2 2
‘ ; T 3 3
1 |8.33% [ 7 3 s 3 3
i} R 2 2
142 2 2 2
1E408AEPH 2 2
BESE L E) P 16 0 |01 2|0 6 8 FGrEBREpP BRI EA
ple PRk EAY I I 1 2 2
REREFRID 4 2 2
FPREXIEEEAIN 4 2 2
3| gy FARMPY LT 4 2 2
Y|, [P AmRY 11 4 2 2
* o qgy [ P HOKS X L sk R 3 2 2
BTy fﬁlLE‘f/r X A EGR I 2 2
W4 X AR R Ax 2 2
BIE R IE 2 2
YT L8 Ik 18 0 |21 0] 0] 10| 6 |+ EBdvy#pBx88s
EBFALEE 50 2 4|1 3| 1| 20| 20
i P F & &k & 90 12 101212 22 | 22
OBy B & & B ¥ | 192 32323232 32| 82 [184-192 nmirpE R s
TR T T ARRE FEEE AT
wip | 5L ¢ 6 1 11 |1 1 1 esppargas
po |FEPELOB e e [ 12 | 2 |2 22| 2 | 2 |[epiipEa
L S A N 210 | 35 [ 35353 | 35 | 35




